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FHE KA FREH | FHEH FE KA e | TS
1 |EH HE B |WAg 15,000 | 31 |{FEF E= N1 31,000
2 [1l#e & R |ER/IE 18,000| | 32 | =ES B |WRHE 20,000
3 |ER H R |BER 25,000 | 33 |FiE EREE Kk |HERR 8,000
4 (A AllF k |BER 16,000 34 |f&7T I k| EAE 11,000
5 |1aRk BT B |ERREE 10,000| | 35 |/t %5 B’ [#RIE 11,000
6 |FIER RE R O|HERE 33,000| | 36 |F{&E GIES R |BRER 15,000
7 |ARH T R |HRE 11,000 | 37 |+ £ = R |BRER 15,000
8 |/ = R |TER 15,000| | 38 |&& R BB R |HiEBE 9,000
9 |HH = | BME 11,000 | 39 |&& R BB R |HEBE 9,000
10 |[/1B¥ = R |TER 22,000] | 40 |&ak R BB R |HiBE 9,000
11 [iLR AR kR |[REE 12,000 | 41 |84 R BB R |HiER 9,000
12|A# H— = N1 30,000| | 42 |&ak R BB R |HiBE 10,000
13 |’&H HEF Kk [ERE 15,000 | 43 |&& R BB R |HiBE 11,000
14 |F% 3] R |ERE 38,000| | 44 [&=& R BB R |HiER 11,000
15 [J11 4 A= | EER 17,000 | 45 |&& R BB R |HiBE 11,000
16 | B+ bsi Kk [BER 110,000 | 46 |&% R BB R |HiBE 12,000
17 |7<MA EZ & |dvEE 33,000| | 47 |&&k R BB R |HiBE 13,000
18 | K= (R B | KBRAF 15,000 | 48 |&& R BB R |HiBE 15,000
19[S K | ZRBE 10,000 | 49 |&& R BB U Pk =1 20,000
20 | AR (EEN K| EER 9,000( | 50 |&%& R BB R [HHEE 22,000
21 |ET = RS 11,000 | 51 |[&& R BB U Pk =1 22,000
22 |’ &H M R |REHE 10,000| | 52 |&& R ER R |HiBE 23,000
23 [(%H M R |[REHE 9,000[ | 53 |&%& R BB U Pk =1 25,000
24 |MJR Bid B |BNE 30,000| | 54 |&a&k R BB R |HiBE 28,000
25 |BEX HiR B |WWAg 30,000| | 55 |&& R BB R |HiBE 51,000
26 | K7 ERiE Bk [KRERAT 15,000 | 56 |&4 R ER R |HiBE 70,000
27 /NAR EE=: K |BIRE 33,000| | 57 |&& R BB U Pk =1 130,000
28 [JEEF TTF R |=ZBR 12,000| | 58 |&az R BB U Pk =1 130,000
29 |EEB i R |[#HE)E 16,000| | 59 |&aA& R ER R [HEE 90,000
30 |EH FEZ = N1 18,000( | 60 | &4 REB R [HAEE 90,000
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61 | A& R EB B [HREER 90,000
62 | A R EB R [HBR 90,000
63 |E#T ®A | RIE 9,000
64 | ILR F8A BR|HERE 12,000
65 [JEER EF R O|HERE 13,000
66 |TTH AR | EHmR 20,000
67 | K& =253 kR |EER 150,000
68 | KA EET B [ERL 39,000
69 |BIH e B|ERIE 11,000
70 | B2 HE B | RBRAF 91,000
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